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THIRD SEMESTER
CE 37 - SURVEYING I
CIVIL ENGINEERING
Time: Three Hours Maximum: 100 marks
ANSWER ALL QUESTIONS
PART-A (10x2=20 marks)

What is the principle of chain surveying? Brief it.

o

In maps, scale adopted is not only mentioned but also
drawn in the maps. State the reason for plotting scales.

What are isogonic and agonic lines?
What do you"m‘eant by ‘great triangle’ and ‘great circle’?
What is ﬂy leveling?

S oo w

Define and distinguish between ‘contour interval and
‘horizontal equivalent’.

What is meant by ‘transit’ and ‘transiting’?

8. What do the terms ‘consecutive coordinates’ and
‘independent coordinates’ mean.

9. What is the degree of a curve?

10. List out the different methods of setting out curves by

chain and tape method.
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PART-B (5%16 =80 marks)

A 20m steel tape was standardized on
flat ground at O temperature of 20° C
under a pull of 15kg. The tape was used
in catenary at a temperature of 30°C and
under a pull of 10kg. The cross-sectional
area of the tape is 22mm? and its total
weight is 400gm. Take E as 2.1x104
kg/mm? and « = 11x10¢ per °C. Find
the correct horizontal distance.

Explain the methods of erecting
perpendicular to a chain line.

Or

C and D are two points 367m apart on
the same bank of a river. The bearings
of a tree on the other bank of river
observed from C and D are N 36°25E
and N 40°35'W respectively. Find the
width of river if bearing of CD is S
86°35'E.

State the points to be considered while
selecting stations in a chain survey.

Following bearings were taken in closed
traverse ABCDA. Find the stations
affected with local attraction and the
corrected bearings.
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(i) Compare the prismatic and surveyors (6)
compasses.

® @
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Or

What s two point problem. Explain with (10)
neat sketch the procédure of solving two-
point problem in plane table surveying.

List out the precautions should be taken (6)
while doing plane table surveying.

13. (a) A page of a level book is found to be with (16)
missing of some data as given below. Fill in
the missing entries with carrying out the
hecessary arithmetical check.

[(Statios | 8§ T _1s FS T Rise) [ Fall 5 | &L Remark
1 3.650 | 108.260
2 x 2750
3 2830
4 3640
5 x " {2420 TP
5 2410 1.320
7 2.320
) 3,000
* Negative
reading
" indicates
o 2170 staff held
against
ceiling
10 x x 2.750 Cp.
11 X 1.320
Total=_6.490 —
3
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(®) () Explain the indirect methods of (10)
contouring.

(i) An embankment of width 10m and side )
slopes 1.5:1 is required to be made on a
ground which is level in a direction
transverse to the centre line. The
central heights at 40m intervals are as
follows.

0.90, 1.25, 2.15, 2.50, 1.85, 1.35 and
0.85m

Calculate the volume of earth work by
(a) Trapezoidal formula
(b) Prismoidal formula.

4. (2) Explain the different methods of making (16)
measurement of horizontal angle using the
theodalite.

Or
(b)  An incomplete traverse table given below is be (16)

filled with the correct missing  value,
Estimate the missing data.

Line Length Bearing
AB 100 4
BC 805 140°40
cD 80.0 220°30
DA kd 310°15
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A reverse curve is to be set out to connect twWo
parallel highways 30m apart. The distance
between the tangent points is 150m. Both the
arcs have same radius. The curve is to be set
out by the method of ordinates from long
chord, taking a peg interval of 10m. Calculate
the necessary data for setting the curve.

Or
Explain  how the construction survey is

conducted for forming a straight ‘horizontal
tunnel.
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